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The number of soldiers has to be an odd number so we will use three soldiers.  Next, the soldiers are not equidistant from each other. The three soldiers’ unique positions create a triangle. For creating a triangle, every side of a triangle is shorter than the sum of the lengths of the remaining two sides. The difference between the lengths of any two sides of a triangle is less than the length of the third side.  So we will use 20 yards, 30 yards, and 40 yards.
20 + 30 = 50 > 40
30 + 40 = 70 >20
20 + 40 = 60 > 30
30 – 20 = 10 < 40
40 – 30 = 10 < 20
40 – 20 = 20 < 30
The lengths of the distances between soldiers constitute a triangle. The lieutenant told the soldiers to watch “his nearest fellow soldier.” Therefore, Soldiers A and B will watch each other, but no one will watch Soldier C because Soldier A is the closest to Soldier B and Soldier B is the closest to Soldier A. This strategy upsets the superior officers because no one will notice anything if something happens to Soldier C. 




